YKaXXute TONbKO OTBETbI K
cneayrowmMM ypaBHEHUAM
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Cos x=0
Sin x=0

tg x=0
ctgx =0
cos x=1
sin x=1
cos x=-1
sin x=-1
cos x=1/2
sin x=1/2
tg x=v3
ctg x=V3
cos x=-1/2
sin x=-1/2
tg x=-v3
ctg x=-v3
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X=M/2+Mn
X=Mn OTBeTbl K YCTHOMY CYeTy
X=In

X=M/2+Mn

X=2ln

X=M/2+2Mn

X=M+2Mn

X=-1/2+2Mn

X=xM/3+2Mn

.X=(-1) M/6 +MNn
. X=0/3+Mn

. X=0/6+Mn

. X=#%2M/3+2Mn

n+1
X=(-1) M/6+Mn
X=-M/3+MNn
X=5I/6+In



YCTHbIN cyeT

Y.,
/2
0 pan
0 x=
3n/2 | -n/2

Sin x=1
cosx=10
sinx=-1
tg x=0
cosx =1

ctg x =0
sinx="%
cos X =V3/2
sin x = - \3/2

cos x =-1/2




sinx =1
cosx=10
sinx=-1
tgx=10
cos x =1
ctgx=10

sin x =1
cos X = V372

sin x = - V3/2
cosx=-1/2

OTBEThI

x = I1/2 + 21In

x =11/2 + IIn
=-11/2 + 2IIn

x = IIn

x = 0+ 21In

x =11/2 + IIn

x=(-1) II/6 + IIn

x ==x11/6 + 211

n+1
x=(-1) II/3+1Iln
x =+ 211/3 + 21In



